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I.Q.
Directions for question no. 1-5: 
Below is given a question followed by two statements numbered I and II. The question may or may not be answered with the help of these statements. You have to decide if these statements are sufficient to answer the question.
Give answer:

A.
If only statement I is sufficient to answer 

B.
If only statement II is sufficient to answer 

C.
If both the statements I and II together are sufficient to answer

D.
If the two statements are not sufficient and still more data is needed to answer the question. 

1.
Is X brother of Y?


Statements I: X is the son of Z.


Statements II: Y is the daughter of Z. 

2.
Is Minu the mother of Shanu?

Statements I: Shanu is the mother of Sonu.


Statements II: Sonu is the grandson of Minu.

3.
On what date is Anju’s birthday? 


Statement I: Her birthday falls on the independence day of a country. 


Statement II: That county has a flag made of three colours. 

4.
What is the age of Shyam?


Statement I: Shyam is half as old as Madan. 


Statement II: Shyam is twice as old as Sonu. 

5.
Among three friends A, B and C, who is the tallest? 


Statements I: A is taller than B


Statements II: A is shorter than C.

Physics
	1.
The velocity-time graph of a particle is shown below.  The acceleration of the particle is highest at 


(A) A
(B) B


(C) C
(D) D
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2.
A person traveling on a straight line moves with a uniform velocity v​1 for some time and with uniform velocity v2 for the next equal time. The average velocity v is given by


(A)
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(B)
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(C)
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(D)
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3.
Mass of a body will 


(A) be different on different planets 
(B) depend on mass and radius of planet  


(C) be constant everywhere
(D)None 
4.
The numerical ratio of magnitude of displacement to distance is


(A)
always less than one
(B)
always equal to one


(C)
always greater than one
(D)
equal to or less than one

5.
The SI units of distance, velocity and acceleration are respectively 


(A) cm, cm/s, cm/s2
(B) m, m/s, m/s2



(C) m, m/s2, m/s
(D) m/s2, m/s, m
Chemistry & Biology
1.
A solid cannot be


(A)
compressed
(B)
melted


(C)
liquefied
(D)
all of these

2.
The property due to which non-metals break into pieces on hammering is called


(A)
ductility
(B)
malleability


(C)
brittleness
(D)
None

3.
If a mole were to contain 1 ( 1024 particles, the mass of one mole of oxygen is


(A)
53.2 g
(B)
5.32 g


(C)
32.0 g
(D)
16.0 g

4.
A species ‘X’ contains 9 protons, 10 electrons and 11 neutrons. It is


(A)
a neutral atom
(B)
an isotope


(C)
a cation
(D)
an anion

5.
573 K is equal to


(A)
300oC
(B)
500oC


(C)
273oC
(D)
373oC
6.
Blood cells are produced in


(A)
Bone marrow
(B)
Liver


(C)
Blood
(D)
Stomach

7.
Plants and animals show features which help them to survive in specific habitats this is called

(A)
Nutrition
(B)
Lifespan


(C)
Cell
(D)
Adaptation

8.
Match the statements in Column – I with those in Column – II.

	

Column – I 
	
Column – II

	(a)
Tiny pores in leaves
	(p)
Sunlight, water

	(b)
Insectivores
	(q)
Stomata

	(c)
Plants food factory
	(r)
Pitcher plant

	(d)
Needed by plants to make food.
	(s)
Leaf


	
	(a)
	(b)
	(c)
	(d)

	(A)
	p
	q
	r
	s

	(B)
	q
	r
	s
	p

	(C)
	r
	q
	p
	s

	(D)
	q
	p
	s
	r


9.
What kind of digestion is present in amoeba (unicellular organisms)?


(A)
Intracellular
(B)
Extracellular


(C)
Holozoic
(D)
All of these

10.
Match the statement in Column – I with those in Column – II.

	Column – I
	Column – II

	(a)
Amoeba
	(p)
Cow

	(b)
Herbivores
	(q)
Storage of undigested food

	(c)
Higher animals
	(r)
Extracellular

	(d)
Rectum
	(s)
Food vacuole


	
	(a)
	(b)
	(c)
	(d)

	(A)
	p
	q
	r
	s

	(B)
	q
	r
	p
	s

	(C)
	s
	p
	r
	q

	(D)
	s
	q
	r
	p


Mathematics
1.
x4 + x3 + x2 – 5x  + 1 on division by x + 1 leaves remainder


(A) 6
(B) -6


(C) 7
(D) -7

2.
If 60 % of the students in a class are boys , and total girls are 420 , then the number of boys are


(A) 700
(B) 1050



(C) 1055
(D) 630 

3.
A dealer buys a watch for Rs. 225 and spends Rs. 15 on its repair. If he sells it for Rs. 300 , the profit percentage is


(A) 50
(B) 40


(C) 25 
(D) 50.5 

4.
The perimeter of a rhombus is 40 cm and one of its diagonal is 16 cm. The area of the rhombus is 


(A) 49 cm2
(B) 96 cm2

(C) 9.6 cm2
(D) 4.9 cm2
5.
 If 
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, 0 < A+ B < 900 then


(A) A = 600
(B) B = 300

(C) A = 450




(D) B = 200  
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